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F. Finding Points
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int N;

Point ppx[1107;

int main
scanf("%d",&C.n);
N=C.n;

int 1=0;i<C.n;i++
ppx[1il.input();
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ppx[C.nl=ppx[0O];
double 1=eps,r=2.0*acos(-1)/N;
r-1-1le-15
double mid=(1l+r)/2;
int i=0;i<C.n;i++
C.cli].r=(ppx[i].distance(ppx[i+1l])/2/sin(mid));
double dtmp=C.c[i].r*cos(mid);
Point ptmp=(ppx|i/+ppx[i+l])/2;
Point pptmp=(ppx[i]|-ptmp);
pptmp=pptmp.rotright();
pptmp=pptmp.trunc(dtmp);
ptmp=ptmp+pptmp;
C.cli].p=ptmp;

C.getareal();
C.ans[C.nl>1e-20)1l=mid;
r=mid;

printf("%.201f\n",1*180/pi);
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